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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

1-  The rising death toll is ---------- largely to the growing number of elderly people, who are
especially vulnerable to the flu.
1) debilitated 2) attributed 3) transferred 4) converted

2-  The couple were finally ---------- by the landlord after not paying their rent for six
months.
1) evicted 2) extended 3) evacuated 4) elicited

3- We have a -----nm--- clientele in our language program, with students from Asia, Europe
and South America.
1) symmetrical 2) complex 3) haphazard 4) diverse

4- But the possibility of these adversaries acting like friends, despite their long-standing
---------- and mutual dislike, is on the horizon.

1) inclination 2) rivalry 3) justification 4) advocacy

5-  Debating that aliens exist cannot be deemed an ---------- truth as we have yet to see proof
of their existence.
1) unforeseeable 2) unintelligible 3) incontrovertible  4) insensitive

6-  The girls wanted to set the table, but they were more of a ---------- than a help.
1) thrill 2) compliment 3) pretension 4) hindrance

7-  The government is to consult the attorney general on whether the enacting of such a law
would be in ---------- of the constitution.
1) breach 2) provenance 3) caprice 4) rationalization

8- Someone once joked that man blames most accidents on ---------- , but feels a more
personal responsibility when he makes a hole-in-one on the golf course.
1) charge 2) legality 3) fate 4) verdict

9-  The trial collapsed when it became clear that the main witness for the prosecution was
not ---=------ :
1) subjective 2) credible 3) conjectural 4) singular

10- The rising number of minority inmates in prison only goes to ---------- the stereotype that

members of minority groups are bad people.
1) belie 2) overlook 3) perpetuate 4) downplay
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PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) ---------- no
tailpipe emissions. Similar to electricity, hydrogen is an energy carrier that can be
produced from various feedstocks. These feedstocks and production methods should
be considered when (12) -—-------- .

Argonne National Laboratory’s (ANL) report, Fuel Choices for Fuel Cell
Vehicles: Well-to-Wheels Energy and Emission Impacts, analyzed greenhouse gas
(GHG) (13) ---------- 10 of the most common hydrogen production and distribution
pathways. ANL found that gaseous hydrogen produces (14) ---------- GHGs than liquid
hydrogen in most cases. ANL also investigated hydrogen’s effects on petroleum use
and found that using hydrogen as a fuel (15) ---------- petroleum use by nearly %100
regardless of fuel production pathway.

11- 1) to produce 2) produce 3) producing 4) that produces
12- 1) for hydrogen emissions to evaluate 2) to evaluate hydrogen emissions

3) hydrogen emissions evaluated 4) evaluating hydrogen emissions
13- 1) is emitted for 2) emissions for 3) to be emitted 4) 1t 1s emutted as
14- 1) fewer 2) less of 3) fewer of 4) as little
15- 1) that reduces 2) reduction 3) to reduce 4) reduced

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The auditing profession is undergoing a transformation, becoming heavily reliant on
computerized systems to produce data analytic reports. As a result, the demand for
accounting graduates with knowledge in data analytics (DA) has increased. Because
textbooks remain the primary educational resource in a college classroom, we sought to
determine the extent to which textbooks include DA content and provide a summary of
our findings to assist auditing educators in locating this content. OQur primary analysis
includes the examination of the six most commonly used audit textbooks and one book
on DA for accountants.

For each text, we evaluated (1) the degree to which textbooks have integrated
current and emerging technologies into the written chapter content; (2) the degree to
which auditing textbooks have students perform specific DA activities, using DA
soliware; and (3) the degree to which these problems [ollow the American Institute ol
Certified Public Accountants’ (AICPA) five-step process for planning and performing
audit DA. We also provide a Detailed Analysis section for each text in which we
summarize both in-chapter and end-of-chapter DA exercises. Recognizing the large



f asian 530B MYF o) ‘SJM.!L.....:

16-

17-

18-

19-

20-

amount of DA resources available online such as case studies and datasets, we also
provide a review and summary of this content, thereby providing auditing educators a
wide variety of options for including DA in their classroom. Finally, based on our
review of these resources, we provide recommendations for educators, textbook authors,
and publishers to consider when developing DA educational materials. Our purpose is to
contribute to the discussion on auditing curriculum and whether trends in practice are
reflected in the course.

Which of the following is the best title for the passage?

1) Why Do Textbooks Remain the Primary Educational Resource in a College Classroom?
2) How Well Do Audit Textbooks Currently Integrate Data Analytics?

3) How Do Textbooks Help Auditing Educators Become Better Professionals in the Field?
4) Why Do Students Entering the Auditing Profession Need High Quality Textbooks?
Which of the following is closest in meaning to the word ‘“undergoing” in paragraph 1?
1) Experiencing 2) Establishing 3) Encountering 4) Expanding

Which of the following shows the corpus that the authors evaluated?

1) Six most commonly used audit textbooks and one book on DA for accountants

2) Five AICPA’s textbooks and one book for auditors

3) Five AICPA’s textbooks and six most commonly used DA textbooks for accountants

4) Six most commonly DA textbooks and one book for auditors

What does “this content’ in paragraph 2 refer to?

1) A Detailed Analysis section for each text

2) Summary of every chapter

3) In-chapter and end-of-chapter DA exercises

4) Case studies and datasets

What is the purpose of the authors?

1) Developing DA educational materials with a good market

2) Contributing to the American Institute of Certitied Public Accountants’ policies

3) Improving the quality of the auditing curriculum

4) Helping accounting graduates perform specific DA activities

PASSAGE 2:

The advent of mechanized production following the Industrial Revolution increased
the size and complexity of production processes, which employed more people and
required larger sums of capital to finance machinery. Accounting historians suggest
that the increase in the number of limited companies that led to the separation of
ownership from control caused the attention of cost accounting to shift from
determining cost to exercising control by absent owners over their managers.

The predecessor of management accounting, i.e. cost accounting, was reflected in
the earlier title of management accountants as cost or works accountants. Typically
situated in factories, these accountants tended to know the business and advise non-
financial managers in relation to operational decisions. Cost accounting was concerned
with determining the cost of an object, whether a product, an activity, a division of the
organization or market segment. The first book on cost accounting is believed to be
Garcke and Fell’s Factory Accounts, which was published in 1897.
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24-

25-

Historians have argued that the new corporate structures that were developed in the
twentieth century—multidivisional organizations, conglomerates and multinationals—
placed increased demands on accounting. These demands included divisional
performance evaluation and budgeting. It has also been suggested that developments in
cost accounting were driven by government demands for cost information during both
World Wars.

The word “advent” in paragraph 1 is closest in meaning to ---------- .

1) incidence 2) emergence 3) sequence 4) influence

Which of the following caused the attention of cost accounting to shift from determining

cost to exercising control by absent owners over their managers?

1) Complexity of production processes

2) The separation of ownership from control

3) Peak of the Industrial Revolution

4) Larger sums of capital to finance machinery

Which of the following statements is NOT true?

1) Cost accountants typically worked in factories.

2) Cost accounting was concerned with determining the cost of an object.

3) Cost accountants used to advise non-financial managers in relation to operational
decisions.

4) The first book on cost accounting was published in the 18th century.

All of the following corporate structures have been mentioned in the passage EXCEPT --------,

1) conglomerates 2) monopolies

3) multidivisional organizations 4) multinationals

Where does the following sentence best fit into the passage?

It appears that “management accounting” is a term used only after the Second World War.

1) End of paragraph 3 2) Beginning of paragraph 1
3) End of paragraph 1 4) End of paragraph 2
PASSAGE 3:

Accounting principles are the rules that an organization follows when reporting
financial information. Some of the best-known of these principles are as follows:

Accrual principle. This 1s the concept that accounting transactions should be
recorded in the accounting periods when they actually occur, rather than in the periods
when there are cash flows associated with them. This is the foundation of the accrual
basis of accounting. It is important for the construction of financial statements that
show what actually happened in an accounting period, rather than being artificially
delayed or accelerated by the associated cash flows. For example, if you ignored the
accrual principle, you would record an expense only when you paid for it, which might
incorporate a lengthy delay caused by the payment terms for the associated supplier
invoice.

Conservatism principle. This 1s the concept that you should record expenses and
liabilities as soon as possible, but to record revenues and assets only when you are sure
that they will occur. This introduces a conservative slant to the financial statements
that may yield lower reported profits, since revenue and asset recognition may be
delayed for some time. Conversely, this principle tends to encourage the recordation of
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losses earlier, rather than later. This concept can be taken too far, where a business
persistently misstates its results to be worse than is realistically the case.

Consistency principle. This is the concept that, once you adopt an accounting
principle or method, you should continue to use it until a demonstrably better principle
or method comes along. Not following the consistency principle means that a business
could continually jump between different accounting treatments of its transactions that
makes its long-term financial results extremely difficult to discern.

Cost principle. This is the concept that a business should only record its assets,
liabilities, and equity investments at their original purchase costs. This principle is
becoming less valid, as a host of accounting standards are heading in the direction of
adjusting assets and liabilities to their fair values.

What is the passage mainly about?

1) Accounting principles 2) Rules that govern an organization

3) Accounting periods 4) Reporting financial information

Which of the following is the foundation of the accrual basis of accounting?

1) When one adopts an accounting principle or method, one should continue to use it
for a long time.

2) A business should only record its assets, liabilities, and equity investments at their
original purchase costs.

3) Accounting transactions should be recorded in the accounting periods when they

4) One should record expenses and liabilities as soon as possible.
actually occur.

According to the passage, which principle tends to encourage the recordation of losses

earlier, rather than later?

1) Consistency principle 2) Cost principle

3) Conservatism principle 4) Accrual principle

The word “its” in paragraph 4 refers to ---------- v

1) long-term 2) a business

3) the consistency principle 4) method

The word “host” in the last paragraph is closest in meaning to ---------- ’
1) grade 2) capacity

3) feature 4) number

I )l ulus

3 Voo i ol dlhaie 453yl 5 yoelee Yoo g Boo cadia o098 9 ol S b s olylo g0 o3, -1
Dgod Juazi cygudan Yo sulbpled sl ar ]y (o559 oS 3l plon oy Ao Lol e yls bl o0 (ygadao Foo

Sl JUy onleo Wi  Hadli dolijlyi jo o 15l posr il ooy 0818 ¢ o048 & 1l Jowasd g, 4o 51
ave ()
dAo (¥

Yy oe (Y
qo00 (F



¥ axiw 530B MY 55) o lasluns

] 13 )1y a4y oldi S i 30 S 5 O (5 pdgu o Y'Y
Dy o0 g o huai Al
S dgw o Py s
WO eo g ply B g0
Oy o0 Sgm Al a0
93 3 00 Sgm 3l 30 Ao dy IS Ay A1 BT

3
iy

Py o~
3 —

4 l—- |- «|l= 0
P
_-6

S bl dgaad JUy Gamdeo YA oo 4 JU)y Bk Yo oubipled slpas 8 b sloima3 WWAS Jlo jo -YY
S G mo; 1WA JLu 53 9 0,5 (g5l 55 JU ) igabeo VO (slee & i (o axlad SO ATAA JLu o
W ITAL Jlo 5l 5 o9m 50050 il g aiu3e b aelye W (2b;, JU) ogales Vo) Ele &
o9 aplgs JU ) oguleo
aue Y (Y MTJQ 7
salie Pk s (¥

plod slap ds 1y (@YU (oo 3 5 ol 01 Sl jo 1) (oo 8 S i (6T G (110 plos iy Ao ool Sy —YF
35 35500 YU e gd Lol o8 pd ag MDY 7oyl 50 Sguw dusyd Y8 wilusial b JUy cygales Yoo oo
sl Jle bl ;o adls@giod Seuw ol ouds aid)F ja Jlw & wudo poe b Ol (lgicas Lol o8 i
el Jb) pgadan 92 w43 Sl jlead i AP 9 AD
fo—do ()
Yo—fo (Y
bo—do (¥
Yo—¥o (F

Bl 513 Boo S i .cawl JUytoo of ntw s adgl dguw 9 JUy o5kbeo ¥ Uld S oo AA Jlw alls 3gmw -YO
2Ol 75 bl oo g0l piew A ) howd BB AT p a4 0, ey Yozl (Jb) Vooe el )lie
Sl JU y b AN Jls gl 8 it sy Bl LB S s sl i 33 Y ol o
AZ O ()
MY (¥
AV.O (7
AY Y (F



A amio 5308 MYF o) ‘SJM.!L.....:

o9 o0 (waio allibo pluS ) (LS5 pllacl plg i ogrg by &)jgue )0
B e B UGS

Slhles slacolas (¥

o sl (sl 50 (3 Sgm 9 (6538 43 Loyuw 0330 (F

o ool slacallas (F

Coguls co gyl Adl Jbo Camdg iyguo o b oo g jo | oS do udld x8lo 55055 plus 5ub
AU (¥ Sl a, O
ol o5, (F solandl Canaseds (¥

F10,000 Jolis 3l Sl ol Sl Y4,AF0,000 L ylys 501 50 sl 30 &5 5 163 3 Ul ol ouile
oo 42 45 ol JUy A0,000 &lao 4y YIS o5 il 050l0 Sz 0,8 Sy 5 o Cad (S 30,15 JU,
a5 00,5 il o w51 (G 51 Jb,y Yo o,000 A UL (miimes . Cawl 0l L 5188 )0 Jb 40,000
fl Jb )tz SOl gt ouile ol s yi S s 4 o Jguog anodls!

Y4,£Y0,000 ()

Y4,8%0,000 (Y

¥4,YYo,000 (¥

¥4,8%0,000 (¥

fheo IS ygboas 5l 38l 8 ol sl i VIS Sl ygeben $Y 0 en AV Jlas 0 LT 5
B 5 e g JUo ) cr9alen T Eheo 45 (ol yio 51 oS3 By AY Jlus 35 ool &bl 331 JUoy cysaben £
5 Bl g0 A8 gy sl 4l ST Uy ek 10 JooglSsSbn cldlan 0yid suile Cad o
sl J 5 raen 9z (ol yido

NYATAR G

OYL (Y

FAL (Y

aYo (F

A ds 3o 43 YIS axlg Yo,000 Jami ol Juy 18,000,000 ale AVIY/YY syl 4o 391 colpmw o8 i
00,5 o A Jlw o sl jo lgheds Lol 1) dlo ol €8 3 Hloulue (ol 00,5 Bl jo sads | Jlw g0 L
2ol 50 YL Al g oud ools Joaomi (Al dwdo 4 YU usly Fooo aluad AY/FIYY Z,l 0 .Cul
AVIFITY fuyl 58 jui i aigSimad 9 dgud S ATIT/Y 50 oLl (ol ,5T s dlgs s8ls Jyaas AT/T/Y
el JU 5 cygmbes 92 Lt ol aly Y Jlo (o (slacs )30 53 (g Ml dno ity 5.5 ol

Vo ()

At

o (¥

A(f

Tadlion 3)90 p1aS 4y gud (5] s o S ygu0 pobis (5 oIl

SS9 ey (F Sedlad pglas (5,8 nalas LS ()

Sl asly 508 - nnlaf LS (f oads pled (gl juuS 5l e 00l plad (gles (¥

-¥s

-Yv

-YA

-vq

)



q daxawo 530B MYF o) ‘SJM.!L.....:

il plas” (1515 jabas odd Jazi' sla 21518 (5 yoS'e Il (gl

o09x8 Lol el (Y reeme (6485 glapl o e 3551 ()

poiluail o e il e Bl 8 it 2,00

@l )l gyl geimo adglro g Wl fpen BB oud i g 5l ol diliaie 35,0 ST
Toguin o0 Cad 5180 30 (30 ) 0105 & 00l fmarnd

bt byl palls (Y &)1515 (2lls (5580 &l O

Kt it lBiy G568 Bilca 1 R R
funsl plaS plows (obo Goio goar (oo Oga F

s oo oS | plew pllo Gsi (¥ 318 oot Sguw o alamde LB 4y K ()
Gy 8 a0 g0 Gl plews Glrlo Gsi (¥

WS (! 13 (5 b ol gl dlllan (Jluw gy YT (Sl e B,y 55 lolgeus Janwgd o gl Elao ST
fiiawl BlAS i yds o lg0

Sy o s gl ol (g3le plees ()

B3 lgio pdy agel S0y o0 agad lo s (F

Sk ole pleew a0y plasgio pdy wgs (F

Sk Glasgio pdy wgss S (2280 50 slaslus (F

Pl o Canraidy & yaue @01 2185 552 cbludl ol oot pMET jlton plicus Squs

Lol pls GLzlo Boio 23> ()

Byt o8ISR ol iy B gl N b ey

el 5yl By s (V

el @S] Sgus aaalS (F

93,10 990 plaS p aaST Jo 0590 (258

g o ololid e o oS 45 (gloye0 40 el o ()

Byl Gillai JLs o5 sloasl s b bsas jo (¥

Do oo penndi K3l Jloj sloe g0 4 5l axly golaidl wbs pos (Y

ol i sl s lioaly e Jlsil$

ol 6501l sluw a5 alobrallay yuv (5l (S IS A o pu (b338) (5 )185Tg 35 b dgms Cramnd o 303l50
Tl o0 950 IS dalomud caly 5150 (595

eyl e deo ()3T O

a8 Ryl oAl slee (Y

il 3,1 GalS juS 5l s (5105 ke o 0 plod sla (F

70 fhos 02 31 (F

Tl plaS b iy o Cnndg yg0 10 Wgo md 3 W0 (fuwn ) L 2151 (guiuaids 090
sz -l (¥ Sy - syl e O

Gl - syl (F Sl - 5yl s (F

-fY

—FY

~F¥

-Fb

~¥5

-fY

-FA

—¥4



Yo amiio 5308 NYF o) o, losbuns

(S Gl 4 e & (Jo el slacallad (il )0 suB by b oyg A8 5l Jolo 3L 092y
€510 &y lio digus o0 Jlo ool Codled

Pl 22 7 al3 plis G55 ()

Slgw ol (F i % gl Lol O

Sl oIS T SoilB S B o 4 gLl Lacanndly g (g3 bl yr Lol g Loty gy (wlSiail 559
930 gl (Y alisls oL (A

st Saley (F S8 pusgieme Gloer, (F

fimnni diliuaio (5535 slo S5 9 31 050 plus

Blen o JES Gl )0 (63959 “eed) JhL sigiiee sl O

bl gl patie o b ol @l Lol 5l o Wils e (F

3bee 2Ll (998 il )0 (e ) Ik st (ke (F

a0k o b (2l @l Sk ade b wlg e (F

o9 o0 uivanb ( Jbo S j50 15 4gSe @139 B oot S

cerl sy gy s sy Cijge ()

anyp olsieds (b g Sgw S0 (F

wloy plolo Gei> M5 (S0 plgiear Jbo Zundg 90 (F

P2 S plpiear (Jlo Cundg &g (F

JUs YYB,000 o eobaxdl b))l by 180,000 T anislil SNl (Jby $00,000 laislo g 5 sl
Sl 10 o1 bl iy wals (JUy T¥o,000 T hayd i3yl (Al

YYo,000 ()

YYd,c00 (Y

Foo,000 (T

YWo,000 (F

STt Juy oaalae FA 9 1F0 i 5 WAV Jlo 5T 9 Jgl )0 cfpd 5 (28l 50 solus glouile
suudh Cadly 50 Eae ity JUy cigabie Yo JaogllSgfiive wildliao (glaasy ja 5 JU; gbeo Yoo dud (fig,9
fowl Jb ) pgabeo Wiz Jlu (nl (b o) 51

VY (\

YoA (¥

Yavy (v

Yor (f

Tl om0 &l plow pguas 10 3,90 plas

sy 3> oo (¥ (g ploms Sgm (528,55 3la5 ()

@bl S5 Hlgiea o A5 (F iei= g e atpm (iR glay

A

-0

-&y

-oY

—-Of

-bo

Y



1 i 5308 NYF o) o, losbuns

Wi g8 houd a4y )8 Blygl el BBl vy e g U U gy @y (S Io g b ) (8590 (88 (5,1 ST -V

! 6o
ol P50 3 i OF ErBs gl jl s

el Al (503305t (o (65 f55 451 5 s b L1 30 Juadia o pote —OA
a¥lo Jloo,g0 5l Jais los ¢ SauY 25u S lsieay Jle o904 ()
AVl Jlooj0 5l Jaid laz Loy Jlooygs o (¥
rle ln e 3 Shoe (Lt @ a4zl b Gl 0)90 CLL s badjslp pladl 5 leanja g lasel s Ll (F
B Sl o
a¥le Jle oy5n SO asilen Jitae gl ejge SO olpieds Sl ojgn (Y
1w ey 50wy seesilo o g Al Swbad oS Wl e —04
SEaw Voo o iy Sl B0 Gl )l Yoo warlopm Foo il o s
o oAl g caulod Bl yo wul wloly ledear JU %0 Jla o Il ol 8 ale pw 0ul youdd Dauw &
T35 s Jlo) Wiz (3125 3 gm0 il ol 51 (g 3 (5 subilo el Sl 19T D el pou 51
¥ye ()
e (Y
AYo (¥
Fye (F
fanl Jb ) iz asial (b5 9 dgm ol 35 700 a2 dolijl i 0 g Al (Soldd 8y yo -7

i o8 ol Fe 3l jo G Wb MRl Ay ponad’ 1
by igd s Jb, Phy 000 dlo ay o pd 43U (A1
by g yd 4y Jb, Y00,000 dlwo 4 Y 509290 (0
s Jgo3 SalS o, \S00: (2

Y80,000 ()l Aco,000 Fauko

$oo,000 Wlasloyw | Yoo,000 lKaus
foo,000 Gasleyw | YDo,000 YIS gog>ge
V\do,000 YT il

s 151y Gl 4y g ss gloo 4 YT peiilo (0
do,000 ailil

s 231051 9 33155 Jlyy ¥'00,000 dlao o Siliany (0

Y, Yfo,000 1, Ydo,000

b o JUy 8,000 dudial 4k 3 (5
L—‘L’) \ﬁo’chczr_z (‘1

Sy ﬂo,ooo 41

yo (¥

Sews YYo,000 (F

‘;n.f.ud d)fblgf.ua

Clan] G yd 550 plnS (o ylow goladdl pmlaw jo  —F)
.s;«...u! (JS].J.} LS)"'\'E.S"’ LSLQ'! (f t_.«....u1 JBlJ.} n.\.:)5 1_«-0.1\_.“ (T‘



W amin 5308 NYF o) o, losbuns

¥,000 g padiuo dlgo JUy Y,000 gyle 090 o .cawlodg JU,y 8,800 () ylaw 890 globl euile
4 Jb)y 1A000 o 4y g ool JoosS 0590 (b (o)l ol ouds 305l (0] O po padiimne 8 joduws JU,
W8y ol 30 5l bl YV 0 Lot e ouds plad gleg dy Cadd Syl (il Sgue T ST el 48 (9,8
139 00 Ly )l i s O podtwd i Lo (M2 33 o> 1) (& i 4z

Yo (¥ Yve ()

Ao (F Yyo (Y

o9 ol wilgd 0 0590 pIS L paiiamso (sleg

slo o (F Jpame jlasls o (¥ o e (¥ al>ye 2 (Y

] Ceand 30 IS o0 03Ul 8 laibi!  tliley 3l a5 T guldgi S 1 pabiiame Slg—o 43 221y 3 el
S o sladio g Juy A0o s Olgo o SelaS 2 8 jlailisl 7 5 Jb )00 pudiiunns dlga p S oluS o (Blg £ 55
il delunol JU 5 ¥70,000 galiwme Slgo B pman B pouil (51.0ubb o0 0 5slS Y, 000 2l sl gl p o lasliow
Tl 0,5 5k iy Olgo (ABlg O pao jlaiko g dsilone B pao o 50 Slgo £ 5 B2l 5

¥,foo (A

Y,000 (Y

¥,fo0 (¥

Y,po0 (F

aolg y8 9005 Callad Cud b (ul LA 50 poloJlo 48 &5 Ll Jamammo ualg Yo,000 (LS 1 (gadsi Cus )b
Cadlad 5l o (] 33 5 puitie glaaia 3o g 5 Culi gloads 3 iluy oo 59,8 a4 JU) FY o Cad arl) Joammo
ook y S s Cansd &4 a2l V5000 Sfoaai ay i liws Tt cansl U5 £,800,000 5 Jly; 8,000,000 i jiy
Fogr aalys JU y ey (5 3laws (2l (3o 1310 9w (gl ot JBla2 S Ju 1) (303l o0l 8 i 5T el

YAY (A

VoY (Y

7 o

Yay (f

A U I b gloai jp apo oo lis 1) B g A Iy w¥game (98 9wy ol abaly 5 S5
Gaih eated slp SEpE gy S Cupe Sl P30y AR e g gdiee pladil S
olod 9 Wl Al SO abad )0 A Cad ) ool SIS abadi o WY guame b jleio ()] I il

Tlaw! plas (s Sgw diST juti 30958 sldCannd g S0 sladds 32

B A
Susay b el a g : —=
| N - JG 4“‘:’.)'“: A il oaals
d PYsers Lﬁ .. I / B A
? s el S sl Sigyd . . 41
| ) cald oeals
| B WSS ‘_}4_13 ‘sLﬁa d...ufi?: B A ;
I Y ol 58l ¢
B A
— (f

Al

-5y

-5¥

N

-5



W amius 530B MY 55) o laslus

prafin (Ul (W) 4 0319 Sgmw g TB,000 g uzly YB,000 Cudyid 690 bl g [l YU (509290 PV
Sl 99y 4 ool dwlxo 0319 dgaw (yw gldd Cawl JU; B Y aly yo (ol culi Jbyw E 50 8 JU, YFA 000
ol JU ) sz o 9 (2dr
\¥d,000 ()
Yo, 000 (Y
Ydo,c00 (¥

do,ooo (F

COgu o0 0wl Az | Siriio 555 Zod o (43 Zolio (8 Cawd 31 —FA
aise (¥ Sely0 ()
obj (¢ oad plai (glos (¥

ot 3 Comlnn ST ol joliciody (g slslun 51 AL ol LBy g o pke (g )hslnsr Coptlo 43 i b -4
Sl 3l 3590 o (g )l (Ubpsamnns 51§ 1S (5 38
Sl g8 (Y el - 5558 ()
Sl= s (F $iidrag - oad plod sl (¥

Yo gy el Jby osldee Yo dleo 4l <dl o b b, 0)ldkeo TF dlo & (gl05 ko yun 0591 SO 50 Ve
Tl Sl sz o juw 2l 3 0590
Y50
Y (Y
Yoy
\FARNA

ouww oolisiw! (alr] Jolao Colio 50) ould Jolao doly @ ouds plod glas dmilino (sl (39380 mfileo (giay 31 1 -V
Cogl oo asd,5 18010 580 pldS (il
2y9 sl Sl by 33 GV (935790 00l pled slas sleie 551> slae O
53 2 el 093 OLL CSbo by 50 VB (935290 00l plad (Slee Bgdlees (o)l Sl (F
sl sl Bye (¥
0,99 bl el by )0 GV (sos290 0ol plad sl Bodleay o)l sl (F

w3 g azly oo 0590 bl Cale pliya )0 GV .S oo eolitul s> jo ller i I )Ll 5 20 VY
Wi JuaS3 2T Jolae Jgazr antd jf ouy ST ensl 0391 LA g V00 Cuia Jrni g 0lge Yl 1 T eSS
plod ke 9 Jby Yoo 9 Jbs V80 w5y 0 503m0 g Olgo i 5l Jgamme azlg y8 oo plod (sl &5 090 (o
Sl Jby s Joud i 31 Jauacmo sy yo ouid plod glog o Jby BB0,000 0,90 31 Lol (b 32> )5 SV ou
doo (\
Yoo (Y
Fho (Y
Yoo (Ff



V¥ dorino 530B MY 55) o laslus

03 o0 )18 eolasul 3 y90 (Wlidlo (28,5 JLaiys (ygeu) 059 S (ASIS 0330 & 5 daslno 53 Jole plas” VY
SNy 4l 30 058 3 euilendl 5

sk skt O
sk @
> = O
2> ok \

30091 Caolus OF ALBIS asi ool plondl IS Slobs g gome g JU) 10000 (6,5 Jich djecus F5 S (B9 V¥
IS 5 el ol 2 53 15 ansl 0331 e B 1Y lols o (59 (54l J15 1 csls B el )15 cagipad 518
Clawl plaS (e a4 Cawly 31) i o Colw b
afococo _ ddFooo ()
Ofvoo _ dfocoo (Y
Hfceo _ pafooo (Y
¥Yoocoo _ ffocoo (F

i il JU 3 FY 0000 (T pusdypus sl 50 o9 8 (JUy P 00,000 dobno &y Al S i okl Gty 908 -V

Sl pla¥ | ns | dilo
'z’.ﬁ"l ()
¥

JATN{

AT AL

1Yo (f
O Lol sl lgacas )90 plas Y5

b sl (F Solsi caei b ollee 505 ()

ool 3, b Joet (F ol 5l b glele S35 aakd ca Lo (F
S by y0 glag B0 (Fhgels —VY

Sl il s B Y el 1028 S BLarST

il 58 st G315 (F ) SO BT el SBY 8 Y
Fably oo 3 )90 IS #30r S yidin Y gecmo el 58 5 yiben ko ~YA

S ala jl any (¥ S5 alai 31 5 ()

S8 alads o g S (F S e Jpazme (Sl S5l 5 4 Ly se (T

§ayle d.”djl; Oy90 Pl o puo clow wasoge -YA

s slue (V locaels! wlolp 8T O

Lo plsreay b8 Jlo @3B (F (65 jazog (sl )l Jlo @3B 5 09y Siarnnds (¥
10 ;800 512 P54 55 0)50 Az og oS yo 4y 30 53, -As

&olo,l 3 aalz (Y slaal » ()

o slus, (F Sllawsl L (Y



10 dziio 5308 NYF o8) ool

aoyd g Jb, Y,000,000 Y,A00,000 cadias IWXY g VYXY JLo jo jw s g adalli 50 98 Al 51 —A)N
3 F cal Gal38l Jb, V80,000 (limeay 1FXY Culi alajb 9 puadi (g JLw 99 12 0 b y8 il
092 anlss sl o dz (129 )8 aniile w0 )0 g IWXY Jluw j0 Cull sl oo oy 4y Sl
/Y8 _),Yoo,000 ()
/¥0 _ YYo,000 (Y
YO _\,b00,000 (Y
/¥ o _ A¥o,000 (F

Tl Wil (o0 0590 PIS pow 43 oo Al (S (5l ol 3Tl -AY

P58 il Jlals g Culb sl Sl (Y P8 il lels 5 culb sler els ()

98 Al Ghalil g Cul sler al33l (F 92 ail Gl g Cul sl rals (T
Tl 03 0550 ploS Jloyi edaw dwlone coume iy lhuw Al (ot gl - AY

ol sl (¥ &S sl O

a3 S o Lagie (F b goladl oo (7

il S 3305 3 590 RIS il (radinns s Olgo a2y YO, sl 00l B o Bl JUoy A0,000 0390 (o j3 —AF
Dgign JBaay Jb, V7,000 Jlyw 5 (g ls0l el 0 ()
Bgen JSle Jby Aoy o0 slgs 25 gedls ol yo (V
Seden JSany JU, FY,000 cale ol 0 VI il pllas o (F
Dpboe B Ju) V7,000 jhw 05 el pllas o (F
poaiin 3 jaconsd ] 80 Sl (sl JUy 190,000 formio 395 Y guatne 31 S wdgi (gl 03k Syl —AD
oo Sgo a3 .ol o0 Jb ) 100,000 S oo Sl [ yha5 3 )90 Jouazo oad plod’ sly auwoyd Fo a5
Fowl JU,) W Jaazo o
90,000 ()
Yo,o00 (Y
Yoo,000 (¥
fo,000 (F

TS o0 dloml W J (o piles sl e bo (65100050 5,150 S 3)50 plus —AF
benys ozl nils 455 cool & 5 corlo B, biel el O
B ol duinge Dl pae (Y
o 6B i (sl kil 8,0 orlo 6y i olasl il g s b sl F

J8 Jlo (o plu 815 s bog pie (F



V$ doiuo 530B MY 55) o laslus

f il o s Slods plUS 3 WSl WS 505 —AY
s ol ity oliall ilass (1
f e ool Bslass Lalsy sl dega el )] I clasd Bas gt
Floz! (o (F
Sl G850 (ot ilu Sloas o (F
S s g8 ko 110 3902 T ouile 4 Sy 9390 &5 o GOSSL 1 B 2 61y S dol s —AA
Wl g (o s (Jg Cond 4293 BB )9 50 Ol 0uilo o ST Canl euiid Joolg cCaml 505155 0590 Jlw 50
Gisb 3 o5 uplus slyzrl sl 5l 2990 pulol arlgd plu owplus o gy ple Gisb 5 ol
Riogre gobus (o Loy g cdl )0 Hlo gaomo aSlol 4 dzrgi b0l e iyl oo Cawddy iagaul
Flawl suid 7 30 awlio jabds 0530 plaS jo o w855 p S0 (awl oot abos
Joeia (¥ A lebl pae (4
by (¥ P e 5 aST o b Joude (1
pIaS oo aler gla jiS d9arg (18,5 a5 30 (g I (oolhew LI ph SO (Il lat e pwplus j0 AR
0,105 Bushai « A3lo slo ] yiS cand iy p2i b 5 50
Cedlo 8 gulS (LS (625, ()
il A s e el oS, s ol ol Y
Eels aslipyel JolST g,z (F
338 Jlo ez b Jb plpae YL (25> 25 (F
el 30U 8550 p1aS oo plunss adled (55918 )5 )0 Talas il b pls oI Ll 8,90 ;0 -4
S go ol YL Jby (350 ells S8 ()
Ded oo Sl ciiud s swyp wejli AT ols OMlelas (V
ool et LB (S ol @l (¥
Dol ge bl dnale (L) (Sl 51 2555 22U (F
395 (bl sla 1510 (5580 alio oy Yo ) ddii bylug olSiwd Yo oluwi (ple olgew) «alb udoi e85 o -4
30 wlio g2 4 gaudg0 (nl 9 Cowl 00ld 4158 waijlas 8,0 L (bli)l digfams o5 polll jLas! yo )
o Rl 3555 1 590 ¢jg1 50 Copndl gl (58,5 HA 50 (g Caml 00lld (WSt o B 90 9 OLus
(el 00t 750 uwbin 920 4 0590 plaS’ 30 (Jgild ()3 b 9 Jiius
e or 750 (SPB w3k 9)lse Slareds dsliwlul 55 s5050 £9de (Ao poe Judsar (O
g oa 155 s ol TEO 5 lailiu] gob5a Cu ppie dali 5o (¥
Selien 3 SPB sk A Glateds £ab0e (S0 4 S leal (ols 18 LSl s Jdse (Y
Db 75 byd ok Oygen Jbo sl 5o 50 geme WSal pas Jdoa gedge (F
WBlgds (it (ol 30 0390 Jsl souile oy jelileds oo (55910, wblei 5,050 )90 plas -4Y
fuds oo waly8 1) (B 5 cnlio
ey 250 Jlo b ud ol o gy Bk 5l 22l ,0 sleclea (4
& lar By (3051 5 (ouiy 2t Bosb 3l e Coll gla ol (Y
SIS )llas I (gl 895 )3 (ol (slay; 2l Byl IV (6392 5e (T
Sy 3590 Jlo (b lasSloy (on)p sk 5l (23 slooles (F



W amin 5308 NYF o8) ool

S g DY bl Olus a5l 1 Gluabl Jgan (glp adlgid 5591055 slp o plws g 5590 plas -AY
Togu o0 48,5 ey el ouis gloins ;B lo
G5 g e g felorigay 525 ()
Dl 2,5 oyt (¥
(4yi0) Glelos é slosalyd oo floigay joni (F
TNl ol £ S e Apualiea TF
3l a0 51 ol pe Al a5 GlaigTay bl ardls (S wd 5 (1)) Glpe 6K 33 A o gl 5T -AF
Flamnl saul Ayl w04 8 300 pIAS 40w plee a0 Lol alils BST LB
o e 2T (¥ g pites (8
ALl pas (¥ S99 0 (¥
o QoS Ao iy g 5 (iled S ley pas 85190 b 395 w0 58 Glbee a (slad o HLd, ol jo -28
Cadily oo i (2] (Lo 0L 5 Jlodizrlay 5590 pluS ol ol o 2 g (s
Slalss g sld by o3,ke 4o ol ol 5 (A
clab > el elas | 5 Laas (Y
Gl 558,55 5 Dy yhe g ileE Sule) pas BT (Y
oyt pilin i Calone oy (F
@) poe boopaecds gac plgicar gy mel JUdl b Adugloebl Glas 09)8 i gaac Jlxsh 47
Fog g0 ylas a8 yael Woy 4 yxie yidey Jloskslay S colo
2ol B (Y e
Eales(F et adls (¥
! w30 ¢ Jlo )30 S0 (5152l b (Jbo g0 S (ool 85058 350 plas” AV
Wlgios o pbu Bl L5l pae b 39300 (Jlo slasjse Jl acsamms alad o plus 515 ST 0
tled jolo oats Jraas L lell Jle slocs g0 ol (sl arsenns
Bl n Moo il sgus g8 85l a8 128 Allen 5l T8 pagibins 8 il LT s ¥
Slgige pboa il i lell pae b 393 Jlo lac po JolS acgome anioas oplea (5,15 ST (F
ilei pole ot haws Jllebl (Jlo ooy 5l (S6 e
onler Jlosge poples a5 W88 oplus STz So L Jb Sppe S pwples plal SH(F
el iy el il o elas g JalS Acgarme
S byl 5o pp ol Jlekol as 3590 plaS (Jhiwss (o plas g (A (gl a2y (U551 50 A4
3 pu5 00 518 Saide (315 (o plus doly «((F ) Cusdlor bl 58 b g «(Smadly)
Syl oy S3lail b JSls  cw plas alg 5513l iags canlizie ()
slady> glaslyd )3 Zagie (¥
SIS (el sl )lST (63515 5 (Bisel plasind (gl gae slaceuliw 3925 (Y
F syl sy KL (F



VA amio 5308 NYF o8) ool

Tl e 30 3 y00 plS (S 1 Sagain Cull sl 1510 Glanas Jilias 0500 0 -44
SR SRR WC P LW 1 [ ORI Y [PV
gdige 7y Loy an plgicas gadge (nl iglhan (fdsy CuliS pae g o (F
Dbion 50 BBl pas (Sl an plsies £abse sl ubsy ColiS pae g0y (T
S oo Al 6 lalas gl lastil 5l 8l yzul i glann g CulaS sae s o (F
551 5 ts iyl canslin ST (511 (TG S 1S 3t b S g 5 i S 58 ikl S0 (slo S Vs
by o0 Dot 9590 pluS 59 4k
g (J5 5 gl gaodS slaccdled ;o Sl pufins j5.2> ()
by LS oSS gl e LSS plasel (Y
3l 5o 4 edee (Dlalee 45 1o G (gl bdstus (000, 5 JolS anpas (F
bl bl ey Aloppilasn 1] ol 8
S oo S 1y 3590 plas 3l § Jlosalas Ludai sl bg; -1+
G515 oS Sale pa 350 O
il iy ol it a8y qualtialsCSUSRTAY
sole s S elao (¥
B8 lB ] 8 Bl e LI
SO bwgh gl G phdty AT S5 ol @ o)Ll Akl Mo gSsygo 8550 o plus (155 j0 VY
Fadl oo Caw 33 90 plas ool sl plail J500 Ll
] i g0y gldel aieils aF wlf g las Ll aigas SO ()
o o il gl laslul b g5llaa (V
90 4285 5185 13 ol o 93 (o Clgs el (lgiods ol Sl 09 (L Log pite 183 Bl lgieas bl (F
Bl g gl dosslpg®_obgpnitendnsl Fuor BEIBIS B Lo oK R
Cgd 0 o)l A 4y yorin ol 0l @i T (g1y2] Caly (o pluns 45 g laulis (5lad Iiliw! 33 yusii —Vo¥
ppolBoadlas o 80ele sl od8S i s Longdin (¥ Ly ypia (A
alaSzun (F ol il s B AR LeadiSs ke
ol duwge (gl e G120 g Glpae ST ol0le Blhgl g (wye lojle weime (lu plus Josdljgitws @llao —V+F
GBS 3 St gyl Sl b2y 49 me Sl iy Sl CabdS 51 g cifodgy JELS (38 5 55 i3

fadsud Sl 5e
S (Y aw ()
9o (F Sz (F

S‘a)gign ﬂ.al)s S uuﬁLup &l S pan 55w 0 pas gl guled 380 plaS —Yed
] Caml b ol oas dﬁu J.a.‘.‘.,.,._n L."")'-‘L"“:" FIPLY P yen u’JLo Lgl'm‘:”JB"" I d._'.'_.....3|3 uoLéL.iJ L alales ()
)_'{13_\ J‘| Y5 Lgl.n:‘_g¢3_'?-5.o S Bl dy rn]_;ﬁ' S s ;‘_,,JL: JL...; uL‘L: j' e gJL..uJA ABAT JL.J )LQ,::- NG
el 00,57 bolaw! CJB o
‘QJLL; |) M‘-’J 9 LS;L.A u‘ym és_ﬂ} 4 ﬁ)y tsw)m\ﬁ GLJAJ)JLN.} (\H
55 (erdle LB Sslis oad (g e (S0 b sy G G 5 4555 Sy cola i g CF



14 dois 530B MY 55) o laslus

lof 4 6l

fx—-¥
flaml plaS o3l Jabo o il L X < <X+Y dolwol Clg> —Yef

X
(%5

0.Y) «v
VB
(_9_) (\‘
vy
(\,Y) (F
Tl plaS FEX)—)T) aob oso oST F(x) = Ux 41,51 1oy
Ux -\ ¢
x ¥
Ux +1 o
Ux ¢
X=0’;§‘ )fl 1A
o FVY (¥
Oj,f)“c (v
0;&@? (f

¥ ¥

Sl plas .cos” x—sin’ x Jol> iy €08’ X—sin

xT—|x—\|

—\
) Jeol> 104

feuwl plas ¢ lim (

x—1 [x—

— Q)
Y (v
Y (Y

—Y (f

¥ Y
—A B h
fladl plas b+ a jlade sl lim (x Nx' +ax+b)
XY (XY —'f)Y

=F oS o ).

—A Q)
A (Y
—Yo (¥
Vo (F



530B MY 55) o laslus

) : X X X
Sl dig 35 alas’ . lim €cOS—COS—...COS— ,luin —1Y)
n—oeo Y T‘* fn

Y\—COSX

0,85 3929 o (F

x[l]+a X2\

fCwil plus ca+ b jlade (il awew f(X) = = &L S -y
xr—[xr]+b <<
X—9
s ()
Y (Y
Y (¥

feawl oS F(X) glocilze Shami .cowl o500 F(X)=IN(V+ %) ali —N1Y
¥ QO
V(Y
o (¥
Y (F
F 3 Tc
Focwl plas f (;) PLIEE- PRI - PPN 1 f(X):[XY]C()SX P ) 4
o (A
—Y (¥
—\ (r
,las 5g-g (F
Y oe& -y
foasl plus F(X) ==Y o o ali dlho pouiso jlado —110

xr1x

)

—Y
)

V—— (¥

— (v

2,05 sezg (F



A - 5303 (“‘”f JS) ‘SJM.!L.....:

Y ; | |
Wil F(0) =1 51 el % oy ol p &dls M(X,y) abi jo y=f(X) oo g ooboo b ool —115
—TX

?Qm‘,al.\f;f(%) oSt

YO

Y (Y
-t (¥
—Y (F

AVX+)Y
Y X

v
Y+In—
¥

Y
Y+In— (v
f,

YJ
Y+In— (¥
Y

f
Y+In— (f
YJ
Sl 515 J1,5551 olas —11A
= dx i
2y
Rl

—dx (¥

—Jx
v
= dx
J. — v 41
VoX4s8In x

% Y
J (y—cos—)dx (f
\ X

Scasl ol [=1,1] o3k 21y ) =1x] g F(X) = X7 ail 99 gboy1090i (o ypeamo 4ol Crlus =114

P . P
3 = -

-
_~—
-6



YY axin 5303 (“‘”f JS) ‘SJM.!L.....:

Y
Flewl plas’ F'(o) o551 .F(x)= ——dt 51 -\Y¥.
° y+e!
\/;
—
v
oo (Y
\/;
A
Jr
focils ublesd g yies Hlade psld plas (il e Koz 6510wy 9550 sloesly ayje I —ITY
S (Y sd Sk ()
e Sl (F Shgela Sl (V

Sl plAS 515 oo gaiuaiinb glaosls (p9 5 ,la) dlw —IYY

‘i’l-ﬁ-r"%”‘a—a yo—if 14—y ToTF

X 5 A f
\$ Y0 ()
\O,Y0 (¥
£ (v
15 (f

fewel plas P(AUB) o7 il P(A(B) =%3 P(B)=%, P(A):% Sy

14

L
A

Gl iy (3T il Jlg il g1 oygoas X & 395 51 -IYF

f(X) | 0¥ of o038 oy
WO (\
0 (¥
vy

WO (F



YY damis 5303 (“‘”f JS) ‘SJM.!L.....:

o il ls g g5l Wl YL Yoo g Wbl Coare alsi bd U 51 (29,5 Y guamo 0 Y 5T VYD
! P15 Cgero YL
VO
A (Y
Yo (T
Ve (F
Cacls 33 (gt A cmSloo b gy Fola pitio Sy S (o0 arrpo b Sy & a5 G s Sla -IYF
Filow! yodor 39 0419 SUb as g piio ¥ PBlosr alBa 10 Jobo yo asTul Jloss| .ol
\—ve "
Ye (v
\—ve " (¥
ve ' (f
&9 sl Syl Cawl VP plp gace F U Jloy slamels 51 aBY gladiged (uilsslg (s S aiged &)88 (aile 1YY
Sl yoder anolr ol 51 (2 UY (slaiges (Sl (5 S aiged
WO
V(Y
NI
£ (f
Sl plas” H, a5 ] (7) dils )17 50 ilesbo i 31 yioS (1) Al )57 50 Solrs bd S cann! 00 L] -1 A
Horly 2y o
H.:p, <p,
H.:py 2py v
H.:p, <py (f
S" =0 )F 3 X =15 =¥ doloai digos Sy 31 Jlooyi daolar Sy 0 HL 2 SO gl ol —IY4
Sl pI8S" yg03T 8 5lel o .o ol cawoay
5 ()
WO (¥
of (v
Vb (F
Holeo o TX=TBsTy=FO . Zxy=190.2X =1F0. Ty = FOVipu lo (X,y) & & wluly —1¥
ool jodar (yomm )5 s
=0
YO (¥
—\YO (v
YV (F



Yf doeie 5303 (“‘”f JS) ‘SJM.!L.....:

.";IJ’J ‘_rw)gw 3 L;);‘Ll,flm?

5 o G501 G edlin 30 ol 3590 (6 Sl (0,509)) shmo 3 (G Il Gl A5 Hebas -1
el AT 5l gl cogas ity g loulus b lailil
o aiio sl - sad Jses uds (8
Sl b bz - S gags (F
Gobadl mylie o ol Jyos (o (¥
ol b by - JolS g (F
laslo pus gl o1yl Slod wlylzel Jastus wolus a8 30 50k U o3 1,3 slieil caly jLuct caoli Sans cod —1¥Y
il oo 030 Al (5l 9T AF Jlo cogos Lidu g lislus 5loo lusibiw! §ubo
Slsla s Lol 4z (¥ Glsle o Liel s ()
Glasle s JLiel avass (F 003 (B pae (glasle s Lel (¥
I e ped 5Ll 5o (W90 dmnio SO gl p Olilisl egarg e Clus glazog solus cuile 1YY

18 ool ol kel i gail el T
foo w33l st o kel
Yo il o i o asbeo
Ybo oy B pan wlylael
Yo | ki sl lasl axs gl
Fey alys bl
YAo Ao g Cawlas 4o
15 ouuin agari ol jliisl

Tl JUj aoz Fee 590 500 LG U 0wl 0010 (38l Cwous b YU (13m0 1393 sLoils ouibo 4 42 gi b
¥Yo ()
Yoo (¥
YAD (¥
Y5O (f
o laibinl g j9lS (ooges A gyl pllii Gub (Jbo sl g and ;0 eolitul 290 (5)lhbue luw IYY
a0 8590 plaS bogs 0
s (Y ool o (g ()
o (F ol bows (gogas (¥



Yo doedn 5303 (“‘”f JS) ‘SJM.!L.....:

wils ALBlD D9 oduid B yan 09 g JWED) ! g il iy b 4 Jbo Jle UL 50 bolus suile ST
(Tldl cud) $090 o0 Card (Ao a2 49 Lo shail yo JUil & 3o s Lisl a0 o

), Yoo doy 3 Sl STL

Aoo =2l yo sl 5 Lrolus

Yyo sl Slelos ol S iy

Foo a3 23 0D s 082

$oo 13 3 00 yan

Y,AYo aslil a3y
Y,AYe (A
LWoo (V
¥, fve (¥
Y,o¥o (f

ol y2) ©légye b bl Ju) o)ldbae Yo,000 Jolw UGl S 51 (23U ;0 Clgn Candy wyge ST -1TF
Tl yod Comdg Wygo (pl Lol HISlow 4 (JS10 5 Al
Jbs oyldes V000 (LS by & yg0 —
JUs S olalas 800 13 gy iy S aian! —
oy P ko e 9 o 30 B Lo 9,5 e o —
oy eog 8l gl oldle
oo g Yo 415 ol ol s 00 pais —
YYve (A
fAoo (¥
Yavo (v
Yo (F
Saisly g0 0590 P ol OF Jlos sogos s T 5 5wt 3o (gladoboo mués el yo — VY'Y
shea¥l g (Y Llaa ¢ SS™ ()
S s gl (T Sl 5 YIS og,b (F
o0y (s s §LB0] 30 STl Sy F o0 0390 (bl y0 9 Jb PO 0593 Jol 5o audli pmani slile suile —1YA
Tl by dr (oogns 292 GBSy wably JU ;1800 (28l glaual 33 9 JU,Yooo0
Yioo (A
YAoo (Y
Yodo (¥
YAb o (F
S| ot Jool ploS o drdas (o lulis —1YQ
s o Lael (¥ sy, slaslasy, 0
lazdgr Sy pe (F Jin locba 65l S5 oo (V



Y¥ damis 5303 (“‘”f JS) ‘SJM.!L.....:

bl oo (ool O yguods j 0k ouls &)l glacurdy Wjse —IFe
Ju;Y 00,000,000 suis dwli JU, 100,000,000 .} 6l Comdy s ygu0
JU;1¥0,000,000 ouds awli Jl, ¥00,000,000 ¥ ol Cardg & yge
391 aplgs ¥ olod Comidg 9050 (JU ) (oo oy dy Ol jgun dslono (glno (98 cdllan 4 azgi b
80,000,000 ()
V90,000,000 (Y
\Y,000,000 (¥

Ao,coo,000 (F

42Oy S 9 il Jgeo!

Clamw! waw ;0 0390 plus glawl w s jamroge jo —1F)
Sy oo palas 10 Shae sloadli s p ol jo Sldes ()
O5d oo palals 430 dlgs g Jead LB 0 b g Cudlad el p i 5 oK o Dlles (Y
D oo melill 4l Olge g Jgad cow p olKiws o Slles (¥
.bs...}.vLsa W"'EL:" J}ls d....r).ﬁ g )LT ..L">19 i b oS o l_’L.Lo.C (‘:
§Ogub 003 gm0 A S99 (43 g0 paudlas! ola ey sy 0yg0 plas -VFY
po33lg0 aiz b SO azog cogal ()
A3 pais gl (7
Azdg ;0 0dls g oo (gleassa jLiel 2o (Y
Flaw! guosgdinb plus ¢ 3 o bl 4135 slow! jLL! 1 Lol ale —FY

Sl o (Y lole y slo ol lo 513575 ()
Al sloalls (5,155, (F lale y 5 o sla gl ls Shes (¥
Tulil oo yommodolu b Hoomo 9,5 b Hoomodindl pi odumd (31 )a 091 (b9 plas —1FF
Jslaze (¥ o lia 2 O
lasl, (F 3, Slos (¥
439 plaS b o w1 AF Jlw ogee i gloolailinl ¥ oo slailiwl dub Cdgo axog o Slee Gl e -1F0
€09 o0 dusiy Lo
B (Y Sl 500 ()
ol (F gl (¥

fail o0 3 g0 plas azdgr g8 o (Sledos 1,5 51 jglaie V¥
58, ienmnd Loy milbsosladlaleQ
laile s (218 al s SLes 5 elsla s Bl s 1381 csladiale (8
bas 3o g coges sladal,s glalale (¥
S sl ol Slai 5 Jbo sl Sl (o 1381y wogladlagle (F



YV dotn 5303 (“‘”f JS) ‘SJM.!L.....:

PO o o193 oliiasd 4z dg1 53 5F Yl coguan sogas Columslxo 13956 A+ sdle ilulas b 5,18l J 5 51 bua
fably o0 9 90

e Dl jliel bt jllaa o sl pas 5l pliebl Joa> ()

o plnil (slag b g loasliyy 5 Sllos 5 azag sl cdpngy BT 5 @l olodsyl s oy (F

355 Joma 3 dxog 10 g o B pae il lisbl | Jaas (F

Gle e 5 Guilsd b lacls g loas o Glail (gl Oliebol g (F

flawl oudd Jgoro 3] ul (oLaiBl dzdgr dugd )o joid 4T 3,10 Canadl b (gWoodls 4y oLl 3590 plas
B Jsor aalls Sl welys (¥ o9y obyz Jooz wslalem (2l ()
ples dgu0 wall aslo o (F adi alyls (3,8 5 ayle s (Y

Cr I P R—— Ty A BB ) 8 5y RS § s ly 43091 2 4y yoxo Bad ] S5 g &yl
950 5 = (G JAS OV (90° 2yl - (g )l ()

9% S5 - (g oyl (F Sorm D)llai - gy o)l (¥

Fail g0 3590 pluS o AB13 2o 31,0 3 4235 puS (Jlo ool (sl

SMsss 5 Sl 29,38 (¥ T eogar A jlely b ye ()

as,8 3lygl jlacil g SOb oo 5l clils p (F iz g ola 5 Lizl

-1fY

-YFA

~¥F4

Vb



YA aoxin

5308

NYF 55) 6 sl




